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NEET MICRO TEST 17 (27.11.2024)    20x4=80 MARKS 

 

Botany: Organisms & Populations, Zoology: Breathing & Exchange of Gases 

Chemistry: Haloalkanes & Haloarenes, Physics: Current Electricity 

 

1. Birds can tolerate large changes in temperature, 

they are 

1) Eurythermal 

2) Euryhaline 

3) Stenothermal 

4) Stenohaline 

 

2. A stage of suspended development found in 

zooplanktons is called 

1) Hibernation 

2) Aestivation 

3) Diapause 

4) Dessication 

 

3. All of the given are xerophytic adaptations in 

plants, except 

1) Sunken stomata 

2) Thick cuticle 

3) Leaves modify into spines 

4) Poorly developed mechanical and vascular 

tissues 

 

4. In which population interactions, only one 

interacted species is harmed? 

1) Competition and predation 

2) Predation and parasitism 

3) Commensalism and parasitism 

4) Mutualism and competition 

5. 

 
Identify A, B and C w.r.t. the above graph which 

represents organismic response? 

1) A-Conformers, B-Regulators, C-Partial 

regulators 

2) A-Regulators, B-Conformers, C-Partial 

regulators 

3) A-Partial regulators, B-Conformers, C-

Regulators 

4) A-Regulators, B-Partial regulators, C-

Conformers 

1. gwitfs; ntg;gepiyapy; ngupa khw;wq;fis 
nghWj;Jf;nfhs;s KbAk;> mit 

1) A+upnju;ky; 
2) A+up`iyd; 
3) ];nlNdhnju;ky; 
4) ];nlNdh`iyd; 

 

2. [_g;shq;f;ld;fspy; fhzg;gLk; ,ilepWj;jg; 
gl;l tsu;r;rpapd; xU epiy _____ vd 
miof;fg;gLfpwJ 

1) Fsph; cwf;fk; 
2) Nfhil cwf;fk; 
3) lagh]; 
4) cyh;epiy 

 

3. nfhLf;fg;gl;l midj;Jk; jhtuq;fspy; cs;s 
twz;l thopl jftikg;Gfs;> ,jid jtpu 
1) mOe;jpa ,iyj;Jis 

2) jbj;j fpA+l;bfps; 
3) ,iyfs; Kl;fshf khWfpd;wd 

4) Nkhrkhf tsu;e;j ,af;f kw;Wk; th];Fyhu; 
jpRf;fs; 

 

4. ve;j ,dj;;njhif njhlu;Gfspy;> xNu xU ,dk; 
kl;LNk ghjpf;fg;gLfpwJ? 
1) Nghl;b kw;Wk; nfhd;Wjpd;Djy; 
2) nfhd;Wjpd;Djy; kw;Wk; xl;Lz;zp 

tho;f;if 

3) cjtpngWk; kw;Wk; xl;Lz;zp tho;f;if 

4) gfph;e;JthOk; kw;Wk; Nghl;b 

5. 

 
A, B kw;Wk; C gw;wp milahsk; fhzTk;. NkNy 
cs;s tiuglk; ve;j capupd Jyq;fiyf; 
Fwpf;fpwJ? 
1) A-xj;jikthd;fs;, B-xOq;fikthd;fs;, 

C-gFjp xOq;fikthd;fs; 
2) A-xOq;fikthd;fs;;, B-xOq;fikthd;fs;, 

C-gFjp xOq;fikthd;fs; 
3) A-gFjp xOq;fikthd;fs;;, B-xOq;fik 

thd;fs;, C-xOq;fikthd;fs; 
4) A-xOq;fikthd;fs;;, B-gFjp xOq;fik 

thd;fs;, C-xOq;fikthd;fs; 
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6. Volume of air that will remain in the lungs after a 

normal expiration is 

1) FRC  

2) RV 

3) IRV 

4) ERV 

 

7. Total thickness of the diffusion membrane is much 

1) less than a millimeter 

2) more than a millimetre 

3) less than a micrometer 

4) more than a inch 

 

8. Contraction of external intercostals muscles 

1) increase the pulmonary pressure 

2) decrease the thoracic volume 

3) increase the thoracic volume 

4) decrease the pulmonary volume 

 

9. Choose the incorrect statement. 

1) Lungs are located in thoracic chamber and are 

anatomically an air tight chambers 

2) thoracic cavity is anatomically an - air tight 

chamber 

3) lower boundary of thoracic cavity is the 

diaphragm 

4) mammals cannot directly alter the pulmonary 

volume 

 

10. Difficulty in breathing causing wheezing due to 

inflammation of bronchi and bronchioles related 

to 

1) asthma 

2) emphysema 

3) fibrosis 

4) all of these 
 

11. Which of the following is tertiary alkyl halide? 

1) 2–chloro–2–methyl butane 

2) 1–chloropropane 

3) 2–chloropropane 

4) cyclohexylchloride 

 

12. Alkyl halides are prepared from alcohols by 

treating with 

a) HCl + ZnCl2 

b) Red ‘P’ + Br2 

c) H2SO4 + KI 

1) only ‘b’ 

2) both a and b 

3) b and c 

4) a, b, c 

 
 

6. ntspr;Rthrj;jpw;Fg; gpwF EiuaPuypy; ,Uf;Fk; 
fhw;wpd; nfhs;ssT 

1) FRC  

2) RV 

3) IRV 

4) ERV 

 

7. tputy; nkd;glyj;jpd; nkhj;j jbkdhdJ 

1) xU kpy;ypkPl;lUf;Fk; FiwthdJ 

2) xU kpy;ypkPl;lUf;F Nky; 
3) ikf;NuhkPl;liu tpl Fiwthf 

4) xU mq;Fyj;jpw;F Nky; 
 

8. ntsptpyh vYk;gpilj; jirfspd; RUf;fk; 
1) EiuaPuy; mOj;jj;ij mjpfupf;Fk; 
2) khh;giwapd; msitf; Fiwf;fTk; 
3) khh;giwapd; msit mjpfupf;fTk; 
4) EiuaPuy; msitf; Fiwf;fTk; 

 

9. jtwhd $w;iwj; Nju;e;njLf;fTk;. 
1) EiuaPuy; khh;giwapy; mike;Js;sJ kw;Wk; 

clw;$wpay; uPjpahf fhw;W Gfhj miwfs; 
2) khh;giw Fop vd;gJ clw;$wpay; uPjpahf 

fhw;W Gfhj miw 

3) khh;giw Fopapd; fPo; vy;iy cjutpjhdk; 
MFk; 

4) ghY}l;bfshy; EiuaPuy; msit Neubahf 
khw;w KbahJ 

 

10. %r;Rf;Foha; kw;Wk; %r;Rf;Foha;fspd; 
tPf;fj;jhy; %r;Rj;jpzwy; Vw;gLtjhy; 
Rthrpg;gjpy; rpukk; ,tw;Wld; njhlh;GilaJ 

1) M];Jkh 
2) vk;gp]pkh 
3) /igg;Nuh]p]; 
4) ,it midj;Jk; 

 

11. gpd;tUtdtw;wpy; %d;whk; epiy my;ify; 
`hiyL vJ? 
1) 2–FNshNuh–2–nkj;jpy; gpA+l;Nld; 
2) 1-FNshNuhg;NuhNgd; 
3) 2-FNshNuhg;NuhNgd; 
4) irf;Nshn`f;rpy;FNshiuL 

 

12. My;ify; `hiyLfs; My;f`hy;fspypUe;J 
,ij gjdk; nra;J jahupf;fg;gLfpd;wd 

a) HCl + ZnCl2 

b) Red ‘P’ + Br2 

c) H2SO4 + KI 

1) only ‘b’ 

2) both a and b 

3) b and c 

4) a, b, c 
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13. Arrange the following compounds in increasing 

order of their boiling points 

 

 

1) II < I < III 

2) I < II < III 

3) III < I < II 

4) III < II < I 

 

14. The reaction 

 
 

takes place by a mechanism designated as 

1) SNi 

2) SN1 

3) SN2 

4) SNi & SN2 

 

15. What is the major product of the following 

reaction? 

 
(Major) A is 

 

1) CH2 = CH – CH2 – CH = CH2 

4)  

 

13. gpd;tUk; Nru;kq;fis mtw;wpd; 
nfhjpepiyfis mjpfupf;Fk; tupirapy; 
tupirg;gLj;jTk; 

 
1) II < I < III 

2) I < II < III 

3) III < I < II 

4) III < II < I 

 

14. tpid 

 
 
vd epakpf;fg;gl;l xU nray;Kiwahy; 
eilngWfpwJ 

1) SNi 

2) SN1 

3) SN2 

4) SNi & SN2 

 

15. gpd;tUk; tpidapd; Kf;fpa tpisnghUs; 
vd;d? 

 
(Major) A vd;gJ 

 

1) CH2 = CH – CH2 – CH = CH2 

4)  

 

2)  

3) CH2 = CH – CH = CH – CH3 

2)  

3) CH2 = CH – CH = CH – CH3 
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16. Consider four conducting materials copper, 

tungsten, mercury and aluminium with resistivity 

ρC, ρT, ρM and ρA respectively. Then 

1) ρC > ρA > ρT 

2) ρM > ρA > ρC 

3) ρA > ρT > ρC 

4) ρA > ρM > ρC 

 

17. Drift speed of electrons, when 1.5 A of current 

flows in a copper wire of cross section 5 mm2, is 

v. If the electron density in copper is 9 x 1028 /m3 

the value of v in mm/s is close to (Take charge 

of electron to be = 1.6 x 10–19C) 

1) 3 

2) 0.2 

3) 2 

4) 0.02 

 

18. In the given circuit all resistances are of value R 

ohm each. The equivalent resistance between A 

and B is 

 
1) 2 R 

2) 5R /2 

3) 3 R 

4) 5R /3 

 

19. Determine the charge on the capacitor in the 

following circuit. 

 
1) 60 μC 

2) 10 μC 

3) 2 μC 

4) 200 μC 

 

20. The Kirchhoff s first law (Σi = 0) and second law 

(ΣiR = ΣE), where the symbols have their usual 

meanings, are respectively based on 

1) conservation of charge, conservation of 

energy 

2) conservation of charge, conservation of 

momentum 

3) conservation of energy, conservation of 

charge 

4) conservation of momentum, conservation of 

charge 

16. nrk;G> lq;];ld;> ghjurk; kw;Wk; mYkpdpak; 
Mfpa ehd;F flj;Jj;jpfspd; kpd;jil vz; 
KiwNa ρC, ρT, ρM kw;Wk; ρA vdpy; 
1) ρC > ρA > ρT 

2) ρM > ρA > ρC 

3) ρA > ρT > ρC 

4) ρA > ρM > ρC 

 

17. 5 mm2 FWf;Fntl;L gug;Gila jhkpuf; 
flj;jpapd; topNa 1.5 A kpd;Ndhl;lk; ghAk; 
NghJ> fl;Lwh vyf;l;uhd;fspd; ,Og;G 

jpirNtfk; v. mj;jhkpuf;fk;gpapYs;s fl;Lwh 
vyf;l;uhd;fspd; vz;zpf;if 9 x 1028 /m3 vdpy; 
v ,d; kjpg;igf; fhz;f. (vyf;l;uhdpd; kpd;Rik 

= 1.6 x 10–19C) 

1) 3 

2) 0.2 

3) 2 

4) 0.02 

 

18. nfhLf;fg;gl;l kpd;Rw;wpy; midj;J 

kpd;jilfSk; R ohm kjpg;Gs;sit. A kw;Wk; 
B f;F ,ilapyhd njhFgad; kpd;jil 

 
1) 2 R 

2) 5R /2 

3) 3 R 

4) 5R /3 

 

19. gpd;tUk; kpd;Njf;fpapd; kjpg;igf; fhz;f. 

 
1) 60 μC 

2) 10 μC 

3) 2 μC 

4) 200 μC 

 

20. Kirchhoff ,d; Kjy; tpjp (Σi = 0) kw;Wk; 
,uz;lhtJ tpjp (ΣiR = ΣE)> FwpaPLfs; 
mtw;wpd; tof;fkhd mu;j;jq;fisf; 
nfhz;bUf;Fk;> mit KiwNa ,jid 

mbg;gilahf nfhz;lit. 

1) kpd;D}l;lk; khwhtpjp> Mw;wy; khwhtpjp 
2) kpd;D}l;lk; khwhtpjp> ce;jk; khwhtpjp 
3) Mw;wy; khwhtpjp> kpd;D}l;lk; khwhtpjp 
4) ce;jk; khwhtpjp> kpd;D}l;lk; khwhtpjp 
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NEET, JEE, CA, TUITION 
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NEET MICRO TEST 17 (27.11.2024)    20x4=80 MARKS 

1. Answer: (1) 

2. Answer: (3) 

3. Answer: (4) 

4. Answer: (2) 

5. Answer: (2) 

6. Answer: (1) 

7. Answer: (1) 

8. Answer: (3) 

9. Answer: (1) 

10. Answer: (1) 

 

11. Answer: (1) 

 

 

 

12. Answer: (2) 

13. Answer: (3) 

14. Answer: (3) 

15. Answer: (3) 

16. Answer: (2) 

17. Answer: (4) 

18. Answer: (1) 

19. Answer: (4) 

20. Answer: (1) 

 

Botany: Organisms & Populations, Zoology: Breathing & Exchange of Gases

Chemistry: Haloalkanes & Haloarenes, Physics: Current Electricity 

o

3 2 3

3

3

Cl
|

CH CH C CH
|
CH

− − − ⇒ 3
o
 – alkyl halide  

R – OH + HCl 2ZnCl
→  R – Cl + H2O 

R – OH + Br2 
red 'P'

→  R – Br + H2SO4 

H2SO4 oxidizes I
−
 into I2, Hence H2SO4 can’t 

be used 

Boiling point ∝ 
1

Surfacearea of molecule
 

2 2 3
CH CHCH CHCH KOH

|
Br

= +
alcohol

, elimination∆
→  

   CH2 = CH – CH = CH – CH3 

Major  

conjugated alkene stable 

2-chloro-2-methyl butane 

Incase of isomers,  

Inversion product is formed in SN2 reaction  

28 19 6

I 1.5
v

neA 9 x10 x1.6 x10 x 5 x10    

= 0.02 x 10
-3

 m/s = 0.02 mm/s 

      As I = neAvd = neAv 

 The correct order for resistivity is 

M > T > A > C 

  

  
 

RAB = R + R = 2R 

 

Equivalent resistance = 
12 x 4

6
12 4




= 9 

Current drawn from battery = 
72

9
= 8A 

 The potential difference between A and B    

= 24 V 

The potential difference between C and D           

= 20 V 

thus, the charge on the capacitor, q = CV 

= 10 F x 20 V = 200 C 

In steady state, circuit becomes 

 

Solutions 

 

      Kirchhoff’s first law |i = 0] is based on

 conservation of charge. 

Kirchhoff’s second law (iR = E) is based on 

conservation of energy. 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

..

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

